AGS 3

Notes

Name: Period: Date:

Warmup — Remember fractions? Show all work, think through the steps you are using to

solve.

You may use a calculator for basic calculation, but not to completely solve.
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What are the steps to add or subtract fractions? o
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What are the steps to multiply fractions?
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What are the steps to divide fractions?
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Investigation — Finding Asymptotes

Give the degree of each polynomial:
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Give the degree of the numerator and the denominator
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How to find the vertical asymptotes: x=7?
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Find the vertical asymptotes for each rational function:
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Step two:

Degree of the numerator is less | Degree of the numerator and Degree of the numerator is
than the degree of the denominator are the same greater than the degree of the
denominator denominator
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How to find the x-intercepts:
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How to find the y-intercepts:
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What do the asymptotes tell you about the domain and range?
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Use the information above to help you find the asymptotes, intercepts, and the domain and range,
then graph them. **You must be able to find this info without a graphing calculator.
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